

Pudji Astuti; Harald K. Wimmer

Regular submodules of torsion modules over a discrete valuation domain

Czechoslovak Mathematical Journal, Vol. 56 (2006), No. 2, 349–357

Persistent URL: <http://dml.cz/dmlcz/128071>

Terms of use:

© Institute of Mathematics AS CR, 2006

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

REGULAR SUBMODULES OF TORSION MODULES
OVER A DISCRETE VALUATION DOMAIN

PUDJI ASTUTI, Bandung, and HARALD K. WIMMER, Würzburg

(Received July 10, 2003)

Abstract. A submodule W of a p -primary module M of bounded order is known to be regular if W and M have simultaneous bases. In this paper we derive necessary and sufficient conditions for regularity of a submodule.

Keywords: regular submodules, modules over discrete valuation domains, Abelian p -groups, simultaneous bases

MSC 2000: 13C12, 20K10, 20K25

1. INTRODUCTION

Let R be a discrete valuation domain with maximal ideal Rp , and let M be a torsion module over R and W be a submodule of M . The submodule W is called *regular* [5, p. 65], [6, p. 102] if

$$(1.1) \quad p^n W \cap p^{n+r} M = p^n (W \cap p^r M)$$

holds for all $n \geq 0$, $r \geq 0$. The regularity condition (1.1) was introduced by Vilenkin [6] in his study of decompositions of topological p -groups. Kaplanski [5] showed that for a module M of bounded order (1.1) is necessary and sufficient for the existence of simultaneous bases of W and M . In this paper we shall identify two conditions which are equivalent to (1.1). One is related to a theorem of Baer [4, p. 4] on the decomposition of elements in Abelian p -groups, the other one was introduced by Ferrer, F. Puerta and X. Puerta [2] to characterize marked invariant subspaces of a linear operator.

The research of the first author was supported by Deutscher Akademischer Austauschdienst under Award No. A/98/25636.

Notation and definitions: The letters $\mathcal{U}, \mathcal{V}, \mathcal{X}, \dots$ will always denote subsets of M . Let $\langle \mathcal{X} \rangle$ be the submodule spanned by \mathcal{X} . We shall use the letters u, v, x, \dots for elements of the module M , and $\alpha, \beta, \mu, \dots$ will be elements of the ring R . Using the terminology for Abelian p -groups in [3, p. 4] we say that $x \in M$ has *exponent* k , and we write $e(x) = k$, if k is the smallest nonnegative integer such that $p^k x = 0$.

An element $x \in M$ is said to have (finite) *height* s if $x \in p^s M$ and $x \notin p^{s+1} M$, and x has *infinite height*, if $x \in p^s M$ for all $s \geq 0$. We write $h(x)$ for the height of x . If $x \in W$ then $h_W(x)$ will denote the height of x with respect to W . Note that $e(0) = 0$ and $h(0) = \infty$. Let R^* be the group of units of R . If $\alpha \in R$ is nonzero and $\alpha = p^s \gamma$, $\gamma \in R^*$, then we set $h(\alpha) = s$. We put $h(\alpha) = \infty$ if $\alpha = 0$. We call $x \in M$ an $(s, k; s_1)$ -element if $x \neq 0$ and

$$h(x) = s, \quad e(x) = k, \quad h(p^{k-1}x) = (k-1) + s_1.$$

In accordance with a definition of Baer [1] we say that an element x is *regular* if $h(x) = \infty$ or if $h(x)$ is finite and

$$(1.2) \quad h(p^j x) = j + h(x), \quad j = 1, \dots, e(x) - 1.$$

The two concepts of regularity introduced above are consistent. We shall see in Lemma 3.2 that a finite height element $x \in M$ is regular if and only if $\langle x \rangle$ is a regular submodule of M .

For $s \geq 0$, $k \geq 0$ we define the submodules $M[p^k] = \{x \in M \mid p^k x = 0\}$ and

$$(1.3) \quad M_k^s = p^s M \cap M[p^k].$$

Then

$$M_k^s = \{x \in M \mid e(x) \leq k, h(x) \geq s\}.$$

In particular $M_0^s = 0$.

Our main result will be the following.

Theorem 1.1. *Let M be a torsion module over a discrete valuation domain and let W be a submodule of M . The following conditions are equivalent.*

(K) *W is regular, i.e. if $n \geq 0$, $r \geq 0$ then*

$$(1.4) \quad p^n W \cap p^{n+r} M = p^n (W \cap p^r M).$$

(B) *If $x \in W$ is nonzero then x can be decomposed as*

$$(1.5) \quad x = y_{k_1}^{s_1} + \dots + y_{k_m}^{s_m}$$

such that

$$y_{k_i}^{s_i} \in W \text{ is regular, } i = 1, \dots, m,$$

and

$$h(y_{k_i}^{s_i}) = s_i, \quad e(y_{k_i}^{s_i}) = k_i,$$

and

$$(1.6) \quad k_1 > \dots > k_m > 0 \quad \text{and} \quad s_1 > \dots > s_m.$$

(FPP) If $s \geq 0, k \geq 1$, then

$$(1.7) \quad (W \cap M_k^{s+1}) + (W \cap M_{k-1}^s) = W \cap (M_k^{s+1} + M_{k-1}^s).$$

By a result of Baer [4, p. 4, Lemma 65.4] condition (B) is satisfied for $W = M$. Hence (B) singles out those submodules W where each element $x \in W$ allows a decomposition (1.5) such that the summands $y_{k_i}^{s_i}$ can be chosen from W itself. With regard to condition (FPP) we observe that the inclusion

$$(1.8) \quad (W \cap M_k^{s+1}) + (W \cap M_{k-1}^s) \subseteq W \cap (M_k^{s+1} + M_{k-1}^s)$$

holds for all submodules W .

The proof of the theorem will be split into two parts. In Section 3 we show that (B) and (K) are equivalent and in Section 4 we prove the equivalence of (B) and (FPP).

2. DECOMPOSITION OF ELEMENTS

We introduce a condition which will be the link between (B) and (K) on the one hand and between (B) and (FPP) on the other. For a submodule W we define condition (H) as follows.

(H) If $x \in W$ is an $(s, k; s_1)$ -element then x can be decomposed as

$$(2.1) \quad x = y_k^{s_1} + z, \quad y_k^{s_1} \in W, \quad z \in W,$$

such that

$$(2.2) \quad h(y_k^{s_1}) = s_1, \quad e(y_k^{s_1}) = k, \quad \text{and} \quad h(z) = s, \quad e(z) < k.$$

The following technical lemma will be useful in several instances. It implies that the element $y_k^{s_1}$ in (2.1) is regular.

Lemma 2.1. *Let $x \in M$ be an $(s, k; s_1)$ -element. Assume*

$$(2.3) \quad x = y + z, \quad z \in M_{k-1}^s.$$

Then $y \neq 0$, $e(y) = k$, and

$$(2.4) \quad s \leq h(y) \leq s_1.$$

The element y is regular if and only if $h(y) = s_1$. If x is regular then (2.3) implies $h(y) = s$.

Proof. From (2.3) it follows that $p^{k-1}y = p^{k-1}x \neq 0$, and $e(y) = k$. Therefore

$$(2.5) \quad (k-1) + h(y) \leq h(p^{k-1}y) = h(p^{k-1}x) = (k-1) + s_1,$$

which yields $h(y) \leq s_1$. It is obvious from (2.5) that we have $h(y) = s_1$ if and only if

$$h(p^{k-1}y) = (k-1) + h(y),$$

i.e., if and only if y is regular. If x is regular then $s_1 = s$ and (2.4) yields $h(y) = s$. □

Lemma 2.2. *For a submodule W the conditions (B) and (H) are equivalent.*

Proof. There is nothing to prove if x is regular. Thus, in the following we assume that x is a non-regular element of W with $h(x) = s$ and $e(x) = k$. In that case we have $k > 1$, $s_1 > s$, and $h(p^{k-1}x) = (k-1) + s_1$.

(B) \Rightarrow (H): Let x be given as in (1.5), with $m \geq 2$. Put $z = y_{k_2}^{s_2} + \dots + y_{k_m}^{s_m}$. Then (1.6) implies $e(z) \leq k_2 < k$ and $h(z) = s_m = s$. Hence the decomposition $x = y_{k_1}^{s_1} + z$ is of type (H).

(H) \Rightarrow (B): Let x be an $(s, k; s_1)$ -element of W and assume that x is decomposed according to (H) as

$$(2.6) \quad x = y_k^{s_1} + z$$

such that (2.2) holds. We know from Lemma 2.1 that $y_k^{s_1}$ is regular. Consider x with $s_1 > s$, $k > 1$. Assume as an induction hypothesis that condition (H) ensures a decomposition of type (B) for all $w \in W$ with $e(w) < k$. Thus we have

$$z = z_{l_2}^{t_2} + \dots + z_{l_m}^{t_m}, \quad m \geq 2,$$

with properties in accordance with (B). Thus $h(p^{l_2-1}z) = (l_2 - 1) + t_2$, $t_2 \geq s$, and $t_2 > \dots > t_m = s = h(z)$, and $k > e(z) = l_2 > \dots > l_m > 0$. If $s_1 > t_2$ then we already have the desired decomposition. Now suppose $t_2 \geq s_1$. Let j be such that

$$(2.7) \quad t_2 > \dots > t_j \geq s_1 > t_{j+1}.$$

Note that $t_m \geq s_1$ can not occur because of $t_m = s$ and $s_1 > s$. Set

$$v = y_k^{s_1} + (z_{l_2}^{t_2} + \dots + z_{l_j}^{t_j}).$$

Then $k > l_2$ yields $e(v) = k$. Since $y_k^{s_1}$ is regular we see that $p^{k-1}v = p^{k-1}y_k^{s_1}$ implies $(k - 1) + s_1 = h(p^{k-1}v)$. Hence $h(v) \leq s_1$. On the other hand it follows from (2.7) that $h(v) \geq s_1$. Therefore $h(v) = s_1$, and v is regular. If we rewrite (2.6) in the form

$$x = v + z_{l_{j+1}}^{t_{j+1}} + \dots + z_{l_m}^{t_m},$$

then we have a decomposition with $h(v) = s_1$ and $s_1 > t_{j+1} > \dots > t_m = s$ and $e(v) = k > l_{j+1} > \dots > l_m > 0$. \square

It is not difficult to check that the following observation characterizes the numbers m , k_i and s_i in (1.5). For a nonzero element $x \in M$ with $e(x) = k$ define $g(x) = h(x) + e(x)$.

Lemma 2.3. *Let $x \in M$ be decomposed as*

$$(2.8) \quad x = y_{k_1}^{s_1} + \dots + y_{k_m}^{s_m}$$

such that

$$h(y_{k_i}^{s_i}) = s_i, \quad e(y_{k_i}^{s_i}) = k_i, \quad \text{and} \quad y_{k_i}^{s_i} \text{ is regular,} \quad i = 1, \dots, m,$$

and

$$k_1 > \dots > k_m > 0 \quad \text{and} \quad s_1 > \dots > s_m.$$

Set $K = \{k_1, \dots, k_m\}$. Then $j \in \{1, \dots, m\}$ is in K if and only if $g(p^j x) > g(p^{j-1} x)$. Moreover

$$h(p^{k_j-1} x) = (k_j - 1) + s_j, \quad j = 1, 2, \dots, m.$$

In particular, we have $e(x) = k_1$ and $h(x) = s_m$.

3. EQUIVALENCE OF (K) AND (B)

Condition (K) can be reformulated in a more convenient form.

Lemma 3.1. *We have*

$$(3.1) \quad p^n W \cap p^{n+r} M = p^n (W \cap p^r M), \quad n \geq 0, \quad r \geq 0,$$

if and only if for each $w \in W$ with $h(p^n w) = n + r$ there exists an element $\tilde{w} \in W$ such that

$$(3.2) \quad p^n w = p^n \tilde{w} \quad \text{and} \quad h(\tilde{w}) = r.$$

Proof. Obviously (3.1) is equivalent to

$$(3.3) \quad p^n W \cap p^{n+r} M \subseteq p^n (W \cap p^r M), \quad n \geq 0, \quad r \geq 0.$$

Now (3.3) holds if and only if

$$x \in p^n W, \quad x \in p^{n+r} M \quad \text{and} \quad x \notin p^{n+r+1} M$$

imply $x \in p^n (W \cap p^r M)$. That implication means the following. If $x = p^n w$ and $w \in W$ and $h(x) = n + r$, then $x = p^n \tilde{w}$ for some $\tilde{w} \in W$ with $h(\tilde{w}) \geq r$. Because of $h(p^n \tilde{w}) = n + r$ the inequality $h(\tilde{w}) \geq r$ is equivalent to $h(\tilde{w}) = r$. \square

Lemma 3.2. *Let x be an element of finite height with $e(x) = k$. Then x is regular if and only if the submodule $\langle x \rangle$ is regular, i.e.*

$$(3.4) \quad p^r \langle x \rangle \cap p^{n+r} M = p^r (\langle x \rangle \cap p^n M), \quad n \geq 0, \quad r \geq 0.$$

Proof. Assume (3.4). We want to show that $h(p^{k-1}x) = (k-1) + s_1$ implies $s_1 = h(x)$. According to Lemma 3.1 there exists an element $\tilde{x} \in \langle x \rangle$ with properties corresponding to (3.2), i.e. $\tilde{x} = \gamma p^t x$, $\gamma \in R^*$, and $p^{k-1}x = p^{k-1}(\gamma p^t x)$ and $h(p^t x) = s_1$. Then we have $t = 0$, and $h(x) = s_1$. It is easy to check that (3.4) holds if x is regular. \square

Proof of Theorem 1.1. Part I: (B) \Leftrightarrow (K). (B) \Rightarrow (K): We want to show that condition (B) implies (K) in the equivalent form of Lemma 3.1. Let $w \in W$ be such that $h(p^n w) = n + r$, and $h(w) = s$, $e(w) = k_1$. Then $s \leq r$ and $k_1 > n$. Hence (B) yields a decomposition

$$w = y_{k_1}^{s_1} + \dots + y_{k_m}^{s_m}$$

where the elements $y_i^{s_i} \in W$ are regular, $h(y_i^{s_i}) = s_i$, and

$$s_1 > \dots > s_m = s = h(w)$$

and $e(w) = k_1 > \dots > k_m > 0$. Let t be such that $k_t > n \geq k_{t+1}$. Then

$$n + r = h(p^n w) = h(p^n y_{k_1}^{s_1} + \dots + p^n y_{k_t}^{s_t}),$$

and $h(p^n w) = h(p^n y_{k_t}^{s_t}) = n + s_t$. Hence $s_t = r$. Set $\tilde{w} = y_{k_1}^{s_1} + \dots + y_{k_t}^{s_t}$. Then $\tilde{w} \in W$ and $h(\tilde{w}) = r$ and $p^n w = p^n \tilde{w}$.

(K) \Rightarrow (B): Because of Lemma 2.2 it suffices to show that (K) implies (H). Let $x \in W$ be an $(s, k; s_1)$ -element. Set $w = p^{k-1}x$. Then (K), resp. Lemma 3.1, imply that there exists an $\tilde{x} \in W$ such that

$$(3.5) \quad p^{k-1}x = p^{k-1}\tilde{x}$$

and $h(\tilde{x}) = s_1$. From (3.5) it follows that $e(\tilde{x}) = k$ and $h(p^{k-1}\tilde{x}) = (k-1) + s_1$. Now set $z = x - \tilde{x}$. Then (3.5) yields $e(z) < k$. Hence $x = \tilde{x} + z$ is a decomposition of type (H). \square

As (K) holds for $W = M$ we can write each nonzero element x of M according to (H) in the form (2.1). Similarly we can decompose x according to (B) as a sum of the form (1.5). In that case we recover the result of Baer [4, p. 4, Lemma 65.4] mentioned in Section 1.

4. EQUIVALENCE OF (B) AND (FPP)

In [2] J. Ferrer, and F. and X. Puerta studied marked invariant subspaces of an endomorphism A of \mathbb{C}^n . Their investigation is based on subspaces of the form $\text{Im}(\lambda I - A)^s \cap \text{Ker}(\lambda I - A)^k$. Thus the submodules M_k^s in (1.3) are a generalization of those subspaces. The next lemma is adapted from [2]. It characterizes regular elements in terms of M_k^s . Note that $M_k^s \subseteq M_{k_1}^{s_1}$ if $s_1 \leq s$ and $k \leq k_1$. Hence $M_k^{s+1} + M_{k-1}^s \subseteq M_k^s$.

Lemma 4.1. *An element $x \in M$ satisfies*

$$(4.1) \quad x \in M_k^s \quad \text{and} \quad x \notin M_k s + 1 + M_{k-1}^s$$

if and only of

$$(4.2) \quad x \text{ is regular} \quad \text{and} \quad h(x) = s \quad \text{and} \quad e(x) = k.$$

Proof. “ \Rightarrow ”: Assume that x satisfies (4.1). Recall that $x \in M_k^s$ if and only if both $h(x) \geq s$ and $e(x) \leq k$. Hence

$$(4.3) \quad x \notin M_k^{s+1} + M_{k-1}^s$$

implies $h(x) = s$ and $e(x) = k$. Assume $h(p^{k-1}x) = (k-1) + s_1$. If we decompose x according to (H) then $x = y_k^{s_1} + z \in M_k^{s_1} + M_{k-1}^s$. Hence (4.3) implies $s_1 = s$, and x is regular.

“ \Leftarrow ”: Consider an element x with properties (4.2). Then $x \in M_k^s$, $x \notin M_k^{s+1}$ and $x \notin M_{k-1}^s$. If

$$x = y + z, \quad y \neq 0, \quad z \in M_{k-1}^s,$$

and x is regular then it follows from Lemma 2.1 that $h(y) = s$. Hence we have $y \notin M_k^{s+1}$ and $x \notin M_k^{s+1} + M_{k-1}^s$. \square

Proof of Theorem 1.1, Part II: (H) \Leftrightarrow (FPP). (H) \Rightarrow (FPP): Because of the inclusion (1.8) the identity (1.7) in (FPP) is equivalent to

$$(4.4) \quad W \cap (M_k^{s+1} + M_{k-1}^s) \subseteq (W \cap M_k^{s+1}) + (W \cap M_{k-1}^s).$$

We want to show that condition (H) implies (4.4) for all $s \geq 0$, $k \leq 1$. Take an element

$$(4.5) \quad x \in W \cap (M_k^{s+1} + M_{k-1}^s).$$

Then $x \in M_k^s$ and therefore $h(x) \geq s$ and $e(x) \leq k$. To prove that

$$(4.6) \quad x \in (W \cap M_k^{s+1}) + (W \cap M_{k-1}^s)$$

we consider three cases. First, let $h(x) \geq s+1$ then $x \in W \cap M_k^{s+1}$ and (4.6) is obvious. Secondly, let $e(x) \leq k-1$. In that case $x \in W \cap M_{k-1}^s$. Now assume $h(x) = s$ and $e(x) = k$. By Lemma 4.1 it follows from (4.5) that x is not regular. Hence $h(p^{k-1}x) = (k-1) + s_1$ and $s_1 > s$. According to (H) we have $x = y_k^{s_1} + z$ with $y_k^{s_1} \in W \cap M_k^{s_1}$ and $z \in W \cap M_{k-1}^s$, which yields (4.6).

(FPP) \Rightarrow (H): Let x be an $(s, k; s_1)$ -element. If $s_1 = s$ then x is regular and we have (2.1) with $z = 0$. Suppose now that x is not regular, i.e. $s_1 \geq s+1$. Then Lemma 4.1 implies $x \in W \cap (M_k^{s+1} + M_{k-1}^s)$. From (FPP) we obtain

$$(4.7) \quad x = y + z, \quad y \in W \cap M_k^{s+1}, \quad z \in W \cap M_{k-1}^s.$$

Then $y \neq 0$, $e(y) = k$ and $h(y) \geq s+1$. Let y in (4.7) be such that $h(y)$ is maximal. We shall show that such a choice of y implies $h(y) = s_1$, and in that case (4.7) is a

decomposition of type (H). Now suppose that $h(y) = \tilde{s} < s_1$. Then, by Lemma 2.1, the element $y \in W$ is not regular. Applying Lemma 4.1 to $y \in W \cap M_k^{\tilde{s}}$ we obtain $y \in W \cap (M_k^{\tilde{s}+1} + M_{k-1}^{\tilde{s}})$. Thus (FPP) yields

$$y = \tilde{y} + z_2, \quad \tilde{y} \in W \cap M_k^{\tilde{s}+1}, \quad \tilde{y} \neq 0, \quad z_2 \in W \cap M_{k-1}^{\tilde{s}}.$$

Hence $x = \tilde{y} + (z + z_2)$, and we have another decomposition of the form (4.7), but now with $h(\tilde{y}) > \tilde{s}$, which contradicts the maximality of \tilde{s} . \square

Acknowledgement. We would like to thank O. Mutzbauer for a valuable comment.

References

- [1] *R. Baer*: Types of elements and the characteristic subgroups of Abelian groups. Proc. London Math. Soc. 39 (1935), 481–514. [Zbl 0012.15301](#)
- [2] *J. Ferrer, F. Puerta, and X. Puerta*: Geometric characterization and classification of marked subspaces. Linear Algebra Appl. 235 (1996), 15–34. [Zbl 0852.15007](#)
- [3] *L. Fuchs*: Infinite Abelian Groups, Vol. I. Academic Press, New York, 1973. [Zbl 0209.05503](#)
- [4] *L. Fuchs*: Infinite Abelian Groups, Vol. II. Academic Press, New York, 1973. [Zbl 0257.20035](#)
- [5] *I. Kaplanski*: Infinite Abelian Groups. University of Michigan Press, Ann Arbor, 1954.
- [6] *N. Ya. Vilenkin*: Direct decompositions of topological groups, I. Mat. Sbornik N. S. 19 (1946), 85–154. (In Russian.) [Zbl 0061.04302](#)

Authors' addresses: Pudji Astuti, Departemen Matematika, Institut Teknologi Bandung, Bandung 40132, Indonesia; Harald K. Wimmer, Mathematisches Institut, Universität Würzburg, Am Hubland, D-97074 Würzburg, Germany, e-mail: wimmer@mathematik.uni-wuerzburg.de.